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UNIT I

. What do you think people today are very concern about the environment?
. What are the major reasons for the loss of green cover ?
. Give solutions to plastic pollution.
. Explain the idea of work as worship according to Swami Vivekananda.
. Justify the title "The Secret of work.
Fill in the blanks with appropriate verb forms.
Gopal usually (like) a pop music.
See! The birds
Radha just

His uncle (buy) the vegetables yesterday.
Tomorrow, the boys (visit) the zoo.
. Write a paragraph by using the following hints.
Town life VS Country life:
Country life — leisurely — sincere, hardworking people - town life — mechanical — no attention —
busy and tiresome — din and bustle — cost of living.
8. What are the steps involved in writing a paragraph?

9. Q.Read the passage given below and make the notes.

The small village of Somnathpur contains an extraordinary temple, built around 1268 A.D. by
the Hoyasalas of Karnataka-one of the most prolific templebuilders. Belur and Helebid are
among their-better-known works. While these suffered during the invasions of the 14th century,
the Somnathpur temple stands more or less intact in near-original condition. This small temple
captivates with the beauty and vitality of its detailed sculpture,covering almost every inch of the
walls, pillars, and even ceilings. It has three shikharas and stands on a star-shaped, raised
platform with 24 edges. The outer walls have a profusion of detailed carvings: the entire surface
run over by carved plaques of stone. There were vertical panels covered by exquiste figures of
gods and goddesses. with many incarnations being depicted. There were nymphs too, some
carrying an ear of maize (a symbol of plenty and prosperity. The elaborate ornamentation, very
characteristic of Hoyasala sculptures, was a remarkable feature. On closer look — and it is worth
it — the series of friezes on the outer walls revealed intricately carved caparisoned elephants,
charging horsemen, stylized flowers, warriors, musicians, crocodiles, and swans.
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The temple was actually commissioned by Soma Dandanayaka or Somnath (he named the
village after himself), the minister of the Hoyasala king, Narasimha the Third. The temple
was built to house three versions of Krishna. The inner center of the temple was the
kalyanamandapa. Leading from here were three corridors, each ending in a shrine, one for
each kind of Krishna-Venugopala, Janardana and PrasannaKeshava, though only two
remain in their original form. In the darkness of the sanctum sanctorum, | tried to discern
the different images. The temple’s sculptural perfection is amazing and it includes the doors
of the temple and the three elegantly carved towers.

10. Write any ten expressions by introducing yourself.

UNIT —II

How is Solar Energy as an alternative energy?
. Write any five sentences on set in the past
. Write a letter to your friend explaining him the importance of communication skills.
Read the following advertisement and write an application.
We are a reputed publishing House looking for Engineering Graduates for our
Science Division, Vijayawada. Fluency in English and knowledge of computers will be an
advantage. Apply before 30™ Sept., 2016 to:
The Manager
The New Dream Publications Pvt. Ltd.
Vijayawada.
. What is Nanotechnology? Discuss its present applications’
. Justify the poem “Stopping by Woods on a Snowy Evening
. What is the central theme of the poem Stopping by Woods on a Snowy Evening™?
. Write a letter to the Editor of a newspaper on rash driving
Discuss the technology that emerged in the late and early twenty first century.
. Construct a dialogue between a counter clerk and a passenger at a Railway Station.

UNIT-111

How can our government play an important role in solving global issues?

. Technology can be used to find solution to solve global issues. Justify

. What is Child labor? Suggest some measures to prevent child labor?
How was child labor reduced through technology at Carpet Weaving Industry in Pakistan?
Discuss the problems that may be caused by E-waste. Give solutions to solve these
problems.

. Justify the title® What is my Name?"

. Bring out the contribution to the lesson * What is my Name?

. Write any five fixed expressions.
Who is your role model? Describe his/her qualities that you like.

10 Frame any five sentences by using modal verbs
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UNIT-IV

Describe Genesis of ISRO
. What are the milestones of ISRO? Discuss its achievements.
. Write short notes on

a) Chandrayanam -1

b) Anusat

Discuss your weekend plans with your friend.

Describe the story of the life the Man in Black as narrated to the author.
. The Man in Black is man of contradiction. Explain.
. write notes on;

a) Analytical thinking

b) Co-operative learning

8. Write the role of Hubble telescope in space programme.
. Write an essay on “overpopulation.
. What are the strategies of summarizing a story?

UNIT-V

. What is the role of media in the modern world?
. How does the fourth estate play a pivotal role in the modern world?
. Discuss the pros and cons of media.
. Write an essay on History of media.
. Rewrite the following sentences:
a) Someone knocked the door ( Change into passive voice)
b) The work has been done by then ( begin with They")
c) Due to heavy rains, the examinations put off. ( Change into Complex sentence)
d) He worked hard, but he failed the examination. ( begin with "Though'}
e) Her uncle bought me some fruits a few minutes ago. ( Change into passive voice)
6. Write any five sentences on making recommendations
7. How can explore your ideas to recreate new things.?
8. Bring out the contribution of the lesson * The Power of Prayer.
9. The child is the father of the man’. Elaborate on this sentence in the light of Kalam's growth to
adulthood.
10. Correct the following sentences:
a) He has bought a car yesterday.
b) Radha told me that she will be happy.
c) John does not likes a pop music.
d) Though he worked hard, but he failed in the examinations.
e) Govind is busy now. Aren’t they?
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UNIT-I

ENVIRONMENTAL CONSCIOUSNESS

1) Who is popularly called as “Vanoli Anna”? [
A)R.Sridharan B)Koothapiran C)R.Madhavan D)None

2 .Why Koothapiran used to walk from Adyarto MylaporeKapaleeswarar temple ?
A) To listen navaratri concerts B)To listen All India Radio
C)To develop green belt D)None

3) Which Metro city has least green cover in the country? [
A) Delhi B)Mumbai C)Chennai D)Kolkatta

4) What is Chennai’s Pipe dream? [
A)To achieve 33% of urban forest B)To achieve 9.5% of urban forest
C) Economic Liberalisation D)None

5) Who is Mr.Govind Singh?
A) Dean, Anna University B)NGO, Delhi Greens
C)Environment Minister D)None
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6)”1f we want to live in sustainable cities, we must understand that trees are an integral part of the
landscape” who said these words? [ ]
A)Vanolianna B)Mr.Madhavan C)Mr. Govind Singh D)Mr.Devadas

7) How many eco-clubs are functioning in Delhi City? [ ]
A) 3,000 B)2,800 C)1000 D)1,500

8) The abbreviation of NAAQ is [ ]
A) National Ambient Air Quality B) National Air Ambient quality
C) National Air Asthma Quality D) None

9. The permissible limit of Respirable Suspended Particulate Matter(RSPM) is
A)100 Microgram/Cubic Meter B)1423 microgram/Cubin Meter
C) 39.08 Microgram/Cubic Meter D) None

10) Which was the noisiest area according to the survey?
A)Sowcarpet B)Nungambakkam  C)Ayanvaram D)T.Nagar

11) One tonne of plastic waste is equivalent to
A)10 lakh carry bags B)20 lakh carry bags C) 5lakh carry bags D)None

12)Madurai’s “‘Plastic Road Man’ is
A) Dr. R.Vasudevan B)Dr.A.P.J.AbdulKalam
C)Dr. T.Kannan D)None

13) What was Dr.Vasundevan’s Mission?
A) Save India B) Clean India C)Save Nature D)None

14) Where was the first plastic tar Road laid?
A) In Chennai B) In Madurai C)In TCE Campus  D)None

15) The mother of evil and of all the misery we see is
A) Ignorance B) Poverty C)Wealth D)None

16) Who was India’s representative at the Parliament of Religions in Chicago?
A) Rama Krishna Paramahamsa B)Swami Vivekananda
C)SwamiDayananda D)None

17) The one Central idea in the Bhagavad Geeta is
A) Work incessantly B)To expect rewards
C)To Make Mankind pure D)None

18) Selfish work is work
A) Slave’s B)Master’s
C)Misery D)None

19) The two things which guide the conduct of men are
A)Slave & Master B)Might & Mercy
C)Right and Justice D)None
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20)A person who has to do unpleasant ,monotonous work is called as

A) Drudge B)Master C)Sojourner D)None

21) Wait a minute, please. The telephone (ring) [
A) Has Ring B)is ringing C)was ringing D)None

22) He often (read)detective stories [
A)Read B)is reading C)Reads D)None

23)1 (write)several letters last night [ ]
A)write B)Wrote C)Written D)had Written

24)We (wait) for the bus since four 0’clock [ ]
A)Waiting B)have been waiting C)has been waiting D)None

25)We (Watch) TV when he came in [ ]
A)Watching B)Were watching C)are watching D)Watched

26)When | reached the station the train (left) [ ]
A) have left B)had left C)left D)None

27) How long (Stay) at your uncle’s home? [ ]
A)Will you stay B)Would you stay C)are staying
D)stay

28) (complete) all my homework at school yesterday [ ]
A)completed B)Complete C)have completed D)None

29)The Birds have (fly) north for the winter [ ]
Afly B)flow C)flown D)None

30) Classify the sentence :Arun goes to church regularly. [ ]
A)lnterrogative B)Imperative C)Declarative D)None

31)A word which describes the quality of Noun & pronoun is called [ ]
A)Verb B)Adverb C)Adjective D)Conjunction

32)A part of speech which expresses emotions is called as [ ]
A)Conjunction B)Preposition C)Adjective D)Interjection

33)While | (run) for the bus I lost a shoe [
A)an running B)was running C)ran D)None

34)How often to the temple? [
A)you go B)do you go C)are you go D)go

35) What is the noun form for the word “aggravate” [ ]
A) Aggravation B)Aggravated C)Aggravating D)Aggravates
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36) What is the verb form for the word “receivership”? [
A)Receiver B)Receive C)Receiving D)None

37) The synonyms for “alighting” is? [
A)Bright& Illuminated B)darkened  C)Dusky D)None

38) What is the meaning for the expression “Pipe dream”? [ ]
A) Wish B)desire C)Real D)None

39) The antonym for the word “Compatible is [ ]
A) Agreeable B) Disagreeable C)United D)amicable

40) The Antonym for the word “existence” [
A)Real B)Actuality C)Unreal D)None

UNIT -1
EMERGING TECHNOLOGIES

poet wanted to stop the woods
A) To take rest B) To reach his destination

C) To enjoy the scene D) To avoid stormy night

“Woods” means

A) Forest B) Snow C)Wood D) Farm House

The season described in the poem is

A) Summer B) Winter C) Autumn D) Spring

The poet was riding on a

A) Donkey B) Mule C) Horse D) Cycle

Robert Frost was

A) Canadian B) Australian C) American D) Swiss

The Woods were filled up with

A) lce B) Snow C)Hail D)Flowers

It was the evening of the year [ ]
A) Coldest B)Darkest C)Most Beautiful D) Finest

The horse shakes its harness bells to ask if there is some
A) Problem B) Danger C) Mistake  D)Error

The poet could not stop to enjoy the beauty of the scene because

A) He was in a hurry B) He had some obligations to do

C) He had miles to go D)He had a long way to go

10) The horse taught that it was to stop there
A) Queer B) Strange  C) Foolish D)Useless
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11) The only support to enjoy is [ ]
A) A B) An D)The

12) 1 left it at i
A) An B)The D)No Article

13) He drives at a speed of 90 miles [ ]
A) No Atrticle B) An D)The

14) We are having royal dinner
A) No Article B) An D)The

15) 1 don’t like
A) No Atrticle D)The

16) They were interviewing her for the job. She for the job yesterday
A) Was being interviewed B) Was interviewed

C) Has been interviewed D) None

17) Reshma is writing the letter. The letter by Reshma [ ]

A) Was written B) is being written  C) Has been written D) Had written
18) Everyone understands English. English by everyone.

A) Is understood B)has been understood

C)was understood D)had understood

19) The faculty brought up the Toilet issue during the meeting. The Toilet issue
faculty during the meeting
A) Has been brought up B) is brought up

C) was broughtup D) had brought up

20) The Professor told her don’t talk in the class. She by the professor not to talk in the
class [ ]
A) Has been told B) wastold C)is told D)was being told
21) My friend really enjoys books and magazines
A) Toread B)reading C) To reads D) read
enough sleep is very important for good health
A) Getting B)Get C) is getting D) was getting
is not allowed inside the building. You should go outside
A) smoke B) smokes  C)smoking  D)smoked
24) | really dislike on holidays and weakends [ ]
A) Working B) to work  C) work D) worked
25) I love a cup of tea in the early afternoon [
A) Todrink B) drink C) to drinking D) drank
26) To cry wolf [
A) To listen eagerly B) to give false alarm

C) to turn pale D) to keep of starvation
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27) To end in smoke
A) To ruin oneself B) to make completely understand

C) to excite great applause D) to overcome some

28) To be above board
A) To have good height B)they have no debts

C) to be honest in any business deal D) to try to be beautiful

29) To put one’s hand to plough [
A) To take a difficult task B) to take up agricultural farming
C)to get entangled into unnecessary things D)take interest in technical work
30) To pick holes [
A)To find some reason to quarrel B) to destroy something

C)to criticize someone D) to cut some part of an item
31) Acronym of CSP
A) Concentrating solar power B) concentrating super power

C) carbon solar power D) carbon super power

32) What is the position of spain in producing the solar energy in the World
A) First B)Second C)Third D)Fourth

33) Eduardo Zarza is a
A) Director of CSR B) Director of Spain

C) Director of Tidal energy D) Director of CSRS

34) Parabolic troughs are called as
A) Heliostats B) Helium stats

C)Holistats D) Hyper stats

35) Creating smaller components and better performance with a lower cost is called as ---
A) Cloud Technology B) Nanotechnology
C)Micro technology D) Robotics

36) Producing very small structures from larger pieces of materials is called
A) Top down techniques B) Bottom up techniques

C) top techniques D) Bottom techniques

37) Adding atom by atom or molecule by molecule is called as
A) Top down techniques B) Bottom up techniques

C) top techniques D) Bottom techniques

38) Acronym of STM []
A) Scanning tones Microscope B) Scanning Tunneling Microscope
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C) Scanning Tones Meter D) Scanning Tunneling Meter

39) Acronym of CNT
A) Carbon nanotubes B) Carbon nano tabs

C) Carbon Nanotechnology D) Carbon Technology

40) Where is the solar power plant located : ]
A) Spain B) Japan C) Taiwan D)Pakisthan

UNIT-11I
GLOBAL ISSUES

Provide Question Tags:
1.1t is true,

A)ls it? B)isn’t it?

C)is that? D)isn’t that?
2.1 am an Honest man,

A)aren’t 1? B)are 1?

C)am 1 ? D)amn’t I?
3.Don’t waste your time,

A)won’tyou ? B)shouldn’t you?

C)will you? D)shall you?
4.Keys to prevent child labour

A)punctuality B)education

C)quality D)none
5.which age of children are mainly engaged in child labour?

A)14-19 B)6-10

C)5-14 D)6-14

6.Carpet-weaving occupation is banned under children Act in pakisthan.

A)2001 B)1991
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C)1981 D)2011
7.1LO stands for
A)lnternational Legal Office B)International Labour office
C)InternationalLabour organization D)lllegal Labour office
8.Accordingto experts, toxic chemical is
A)lead B)Hydrogen C)Titanium D)vanadium
9.Which parts of the body can be damaged by toxic chemicals?
A)kidneys B)intestines C)heart D)lungs
10.You not do it again.(use appropriate modal verb form)
A)shallB)would C)could D)will
11.we to obey our elders.(use appropriate modal verb form)
A)open B)ought C)will ought D)Aught
One word substitutions:
12.0ne who looks at the bright side of things
A)optimist B)pessimist C)alien D)famine
13.Style of Speaking well.
A)elocution  B)unmailable C)omnipresent D)omnipotent

14.Science of writing and compiling a Dictionary. [

A)Universal B)lexicography C)Voluntary Science D)amnesia

15.Receiving guests warmly. [
A)exodus B)honary C)hospitality D)hearth
16.Departure of many people.
A)voluntary service B)posthumous
C)obsolete D)exodus
17.Words are phrases inscribed on persons tomb

A)idealogy B)epitaph C)omniscient D)extempore

Write down the expansion of the compound noun:
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18.solar power
A)power from the sun B)power from water
C)power from enginesD)power from biogas
write down the expansion of the compound noun:
19.Research center
A)center meant for laboratory works
B)center meant for doing research
C)center meant for developing softwares

D)center meant for communication

20.who was the author of story “What is my Name”?
A)N.Suhasini B)Mrs. P.Satyavathi C)P.Satyadevi D)R.Sarada
21.who forgot the name in the story?
A)N.Suhasini B)P.Satyavathi C)P.Satyadevi D)R.sarada
22.who will grow more restless and become disappointed? [
A)housewife B)father C)Daughter D)grandparents
23.For what the housewife searched in almirah?
A)certificates B)sarees C)silver plates D)Ornaments
24.Who has brought feminism in Telugu Literature today? [ ]
A)S.Savitri B)Satyanarayana C)Satyavathi.P D)R.P.Satyanair
Find out in which condition does the sentence follow:
25.1f I like it, 1 shall do it.
A)open condition B)Improbable condition

C)unfulfilled condition D)zero condition

26.1f | were a billionaire, | could establish a University.

D)anillusion condition B)Improbable condition

C)unfulfilled condition D)zero condition
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27.1f you listen carefully, you will understand.
A)open condition B)Improbable condition

C)unfulfilled condition D)zero condition

28.If an elephant and a mouse fell in love, they would have many problems.

A)open condition B)Improbable condition

C)unfulfilled condition D)zero condition

From which disease does carpet weaving children suffer from
A)persistent knee pain B)headache
C)Stomach ache D)eye problem
30.Which occupation was banned under the employment of children Act 1991?
A)fruit selling B)child labour
C)carpet weaving D)shopkeeping
31.which Industry is important for pakistan’s economy?
A)Global export market for handmade carpets
B)Global export petroleum industry
C)Global export handlooms industry
D)Global export of automobilies industries
32.What is the full form of UNEP
A)United Nations Environment programs
B)United national Educational progress
C)United National empower program
D)United National eco-friend program
33.How much waste is produced from electronic devices?
A)40 million tons B)60 million tons

C)80 million tons D)30 million tons
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34.How much is an estimated e-waste produced annually in china.?

A)2.5 million tons B)2.3 million tons

C)2.4 million tons D)2.2 million tons
35.Apart from china which other country is facing the serious e-waste problem

A)India B)japan C)London D)America
36.Nothing is mine, (provide question tag)

A)is it? B)are you?  C)isn’t you? D)are we?
37.wait for me outside, (provide question tag)

A)will you ? B)will I ? C)can you? D)so you ?
38.1 am sorry to say this but the service is not good (Provide question tag)

A)isnot it? B)aren’l ? C)are you? D)will 1?

39.She came 1% in conducted by college.

A) music B)dance C)acting D)exams
40.How much money had given to her as dowry ?
A)25000B)15000 C) 50000 D) None of these

UNIT - IV
SPACE TREK

1. Scientists communicate with the telescope via

A. Tracking Date Relay satellite
B. Tracking Data Relay Satellite
C. Tracking Data Reply Satellite
D. Tele Directed Radio Source
2. When none of the satellites are visible from the space craft is used to store Observation [
A. Special Data Receiver B. Special Data Recorder
C. Specific Data Transmitter D. Specific Data communicator
3. hours a telescope can sustain if it is fully charged [
A8.0 B.7.5 C.82 D.7.9
4. Acronym of NOBLs
A. New Outer Black Layer B. New Outer Bigger Layer
C. New Outer Blanket layer D. New Output Blog Layer
5. The special material used to prepare the truss of Hubble
A. Gold plating B. Silver coating
C. Polythene fiber D. Graphite Epoxy
6. Where is Hubble placed
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A. Troposphere B. Hemisphere
C. Hydrosphere D. Outside Earth
7. means light or produced by light [ ]
A. Phono B. Tele C. Photo D. Graph
8. The instrument that records earth quakes
A. Monography B. Photography C. Phonography D. Seismography
9. People uses telephone to with people [
A. Acess B. Communicate C. Compute D. Compare

10. The weight of Truss is [
Al111 B.114 C. 129 D. 131

11. Acronym of ISRO
A. Indian Space Research Organization
B. Indian space Research Authority
C. International Space Research Organization
D. International Space Research Authority

. History of ISRO starts with the experiments phase in year

A. 1969 B. 1970 C.1971 D. 1972
was the first moon machine by ISRO [
A. Aryabhatta B. Bhaskara C. Rohini D. Chandrayaan-1
. Oceansat was launched in year [
A. 1997 B. 1996 C. 1998 D. 1999
is the world’s first educational satellite
A. INSAT B. Apollo C. Edusat D. Oceansat
. Acronym of GSLV
A. Geographical Satellite Launch Vehicle
B. Geosynchronous Satellite Launch Vehicle
C. Geographical Space Launch Vehicle
D. Geosynchronous Space Launch Vehicle
. Imaging satellite gives information about
A. Crops B. Ocean C. Moon D. Buildings
. NASA stands for
A. National Ambient and Space Authority
B. National Aeronautic and Space Administration
C. National Aeronautic and Space Authority
D. National Ambient and Space Administration
19. Period of Ten years
A. Decade B. Centaury C. Half Centaury D. Quarter century
20. Chandrayan — 1 was carried by [
A.PSLV B. PSLV-XL C.PSLV-C1 D. PSLV-C2
21. Who has written the essay “The Man In Black™? [
A.C. L. James B. John Jea C. Barry Record D. Oliver Goldsmith
22. Which type of essay is “ TheMan In Black”? [
A. Romantic Essay B. Classical Essay ~ C. Narrative Essay  D. None of these
23. The man in “Man In Black” is [ ]
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A. Pessimist B. Ruthless man C. Merciful D. Philanthropist
24. At last the man was happy because [
A. The woman was happy B. Little boy was happy
C. He himself was happy D. None of these
25. The man in black was ashamed of [

A. His Guilty B. His Hatred nature C.His mercy D. His charity

Write the suitable agreement for the following.

26. Basketball across the floor. [ ]
A. Roll B. Flow C. Fall D. None of these
27. Don’t the assignment.[ ]
A. Understand B. Understood C. Understanding  D. All of three
28. Sugar and flour needed for the recipe.
A. Were B. Are C.ls D. Was

29. Everybody a good book 1]

A.Enjoying B. will be enjoying C. was enjoying D. Enjoys

30. The choir very happy with the performance. [
A. Are B.Is C. Neither Are nor Is D. Either Are or Is
Change the following into the Reported Speech

31. The student said to the teacher, “Please allow me to the class.”
A. The student said to the teacher please allow him to the class
B. The student said to the teacher to allow the student to the come in
C. The student requested the teacher to Allow him to the class
D. The student requested the teacher let him be allowed to the class
32. The beggar said to Stephen, “Please give me something to eat.”
A. The beggar told to me Stephen to give him something to eat
B. The beggar commanded Stephen to give him something to eat
C. The beggar ordered Stephen to give him something to eat
D. The beggar begged Stephen to give him something to eat
33. He says, “I shall do my best.”
A. He says that he will do his best
B. He said that he will do his best
C. He says that he would do his best
D. He said that he would do his best
34. Honey said to me, “Have you done your work?
A. Honey told to me have you done your work?
B. Honey told me have you done your work?
C. Honey asked me if | had done my work
D. Honey asked me so | had done my work.
35. The doctor said, “Ah! His condition is serious.”
A. The doctor said that his condition is serious
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B. The doctor said the patient’s condition is serious
C. The doctor said that his condition was serious
D. The doctor said that the patient’s condition is serious
36. Gopal is as wise as Ramu is ( Change into Comparative Degree)
A. Gopal is wiser than Ramu
B. Ramu is not wiser than Gopal
C.Gopal is not wiser than Ramu
D.Ramu is wiser than Gopal

37. Find the Right sentence in the following
A. This is the best of the two books
B. This is the better of the two books
C. This is the most best of the two books
D. This is most best of the two books
38. Ashoka was greater than any other king in India. ( Change into Positive Degree)
A. No other king as great as Ashoka in India
B. Many other kings as great as Ashoka in India
C. A very few kings in India were as great as Ashoka in India
D. None of these
39. My brother is elder me by two years [
A. Where B. But C. Than D.To
40. Does the basket contain fruits? [
A. Some B. Any C. Little D. The Little

UNIT-V
MEDIA MATTERS

. The following sentence is not correct
A) Being tired of walking, | wanted to take rest
B) Hemasai as well as Hematejesh loved me
C) Though he is poor but he is happy
D) He neither earns nor saves money

. The following is an example of simple sentence
A) | have some letters to write
B) Itis very cold so we stayed at home
C) Suresh has both handsome and intelligence

D) He is either a politician or a social worker

. Two or more simple sentences can be combined with co-ordinating conjunction
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A) Simple

. This is an example of complex sentence

B) Complex C) Compound
A) She is punished unjustly
B) She speaks not only English but also Hindi
Find out the right sentence in the following
A) The woman who was very kind helped the poor girl.
B) Unless you show your ticket, I allow you in.
C) As I have no ready cash so | can’t lend you.
D) None of these.
It is an example of co-ordinating conjunction
A) As B) Since C) Who
. This is not a right element of effective writing
A) Avoid using clichés B) Avoid hyperbole
C) Avoid active construction D) Avoid redundancy
targets specific demographics or audiences.

A) Advertisement B) Group discussion C) Interview

It is an exchange between a journalist or presenter and a source of information

A) Group discussion B) Interview C) Debate

. The following interview brings out the personality of the interviewee

A) Witness interview  B) Explanation interview C)VVox-pop interview
. Get information from the interviewee about his or her expert subject is called
A) Witness interview  B) Explanation interview C)VVox-pop interview
. A word with same pronunciation but different in meaning and spelling
A) Homophone B) Homonym C) Homograph
. A word with same pronunciation and spelling but different in meaning
A) Homophone B) Homonym C) Homograph
. A word with same spelling but different in meaning and pronunciation
A) Homophone

B) Homonym C) Homograph

15. It represents the culture and collective consciousness of the nation
B) Media
A sentence which has only one subject and one predicate is called---
A) Simple
17. A sentence which consists of two or more co-ordinate clauses is called---

A) Simple

FUNCTIONAL ENGLISH

A) Information C) Discussion
16.
B) Compound C) Complex

B) Compound C) Complex

D)None of these

[ ]

B) She convinced her husband cleverly
D) If you know her name, please tell me

[ ]

[ ]

D) None of these

[

D) Advertisement

[ ]

D) Portrait interview

]

D) Portrait interview

[ ]
D) Idiom

[
D) Idiom

[
D) Idiom

[ ]
D) None of these

[ ]
D) None of these

[ ]
D) None of these
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18. A sentence which consists of one main clause and one subordinate clause is called--- [ ]
A) Simple B) Compound C) Complex D) None of these
19. AIDA stands for [ ]
A) Attention, Interest, Desire, Affection B) Attention, Interest , Desire, Attitude
B) Attention, Improvement, Desire, Affection D) Attention, Interest, Determination, Affection
20. Who used “Hieroglyphics’ first? [ ]
A) Egyptians B) Sumerians C) Indians D) Americans
21. When was ‘Hieroglyphics’ used by Egyptians? [ ]
A) Before 3000 BC B) 3000 BC C) Before 3500 BC D) 4000 BC
22. Who used “The modern western alphabet’ first? [
A) Egyptians B) Sumerians C) Indians D) Americans
23. The word “‘Papyrus’ belongs to [ ]
A) Stone B) Plastic C) Paper D) Clay
24. When did Chinese use ‘Paper’? [ ]
A) Before 300 BC B) 300 AD C) Before 100 AD D) 100 BC
25. The word “Inscribe’ means [ ]
A) Read B) Write C) Cut D) Listen

26. Who used “The movable metal type’ in Europe? [ ]
A) Johannes Gutenberg B) John Gutenberg C) James Gutenberg D) Jarvis Gutenberg
27. Who invented ‘Lithography’? [ ]
A) AloysSenefelder B)AlfredSenefelderC) Albert Senefelder D) Anil Senefelder
28. What is the name of first monthly magazine [ ]
A) Gentle Magazine B) Gentleman’s Magazine
C) George Magazine D) Gentleman Magazine
29. VDT stands for
A) Video Display Terminal B) Voice Display Terminal

C) Video Detect Terminal D) Video Direct Tube

30. “The first true news papers’ appeared in [ ]
A) The early 1600s B) The early 1500s C) The early 1800s D) The early 1700s
31. When was thefirst monthly magazine published? [ ]
A) 1731 B) 1730 C) 1371 D) 1137

32. The following decade is the decline of news papers[
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A) The first decade of 21% century B) The first decade of 20" century
B) 19 th Century D) None of these
33.The word ‘Supplant’ means ]

A) repair B) reduce C) replace D) revolution
34.“Chisel’means ]

A) cut B) shape C) produce D) BothA & B
35.The mechanical printing press was invented in the following year [ ]
A) 1803 B) 1830 C) 1801 D)1308
36. The words or phrases that are used to make the speech more coherent [ ]

A) ldioms B) Connectives C) Discourse markers D) Phrasal verbs
37. Who is named asa media titan in the text? [ ]
A) RuPert Murdoch B) Ruben Murdoch  C) Robin Murdoch D) Robert Murdoch

38.Who wrote' The Power of Prayer" [ 1

A)R.K.NarayanB)AsifCurrimbhoyC)Swamy Vivekananda D)A.P.J.AbdulKalam

39.The Wings of Fire was written by

A) ManjulaPadmanabhan B)Swamy Vivekananda
A.P.J.AbdulKalam D) Rabindranath Tagore

40. In Which year, A.P.J.AbdulKalamwas awarded' The Bharat Ratna’
A) 1979 B)1997 C) 1987 D) 1797

Prepared by: B.Ganeshan, D.Padhmaja, M.M.Gopi, S.Kishore,
B.Kodhandapani,S.Purushotham,A.Mahesh,Dr.K.DhanalLakshmi.
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